	Corrections to Text (Second and Third Printings)

Berk/DeMarzo, Corporate Finance, 1e



	Page
	Printing
	Correction

	Front Matter
	2nd printing
	p. xiv , table of contents, Section 14.3 “Modifliani” should be “Modigliani”

p. xxii, About the Authors, first line should read: Jonathan Berk is the Sylvan Coleman Professor Finance….

p. xxx, fourth paragraph, fourth line: delete “it”;

p. xxx, fifth paragraph, fourth line: Add the following (in red) to read as follows:

“…Shannon Donovan, Patricia Bancroft, Hilary Bancroft, Arline Savage, and Carlos Bazan….”

p. xxxii, reviewer list: Correct Jaime Zender’s first name spelling. Add Mike Fishman.

p. xxxiii, Chapter Class Testers: Move Stohs so in alphabetical order; End of Chapter Problems Class Testers: P. Raghavendra Rau affiliation should be Purdue University; 



	Front Matter
	3rd printing
	p. xxxii , Preface, after Marianne Plunkert, add:

Paul Povel, University of Minnesota

	09
	2nd printing
	Third line below example 1.2, change 75 to 100: “… there can be no more than 100 of them.”  

	16
	2nd printing
	Under Further Reading, fourth paragraph, third line, “McConnel” should be spelled McConnell 

	21
	3rd printing
	Second paragraph under header 2.2 The Balance Sheet, change “stockholder’s equity” to “stockholders’ equity”

	38
	3rd printing
	#5 and #6 in the Summary, change “Stockholder’s equity” to “Stockholders’ equity”

	44
	3rd printing
	Problem 2-16, change the 3rd sentence to the following:

The customer picks up the entire order the same day and pays $1 million upfront in cash; you also issue a bill for the customer to pay the remaining balance of $4 million within 30 days.

	49-50
	3rd printing
	Example 31, change the problem to:

Suppose the jeweler can produce $10,000 worth of jewelry from 20 ounces of gold but only $6000 worth of jewelry from 10 ounces of platinum. If the jeweler has a private opportunity to trade 10 ounces of platinum for 20 ounces of gold, should he take it?
And change the Solution to: 

Given the value of the jewelry he can produce, the jeweler should exchange his platinum for gold. However, rather than accept the private trading opportunity, he can do better by using the market to trade. At current market prices the jeweler could exchange his platinum for $5500. He could then use this money to purchase $5500 ($250 / ounce of gold) = 22 ounces of gold. This amount is more than the 20 ounces he would receive if he engaged in the direct trade. As we emphasized earlier, whether this trade is attractive depends on its net cash value using market prices. Because this value is negative, the private trade is not appealing no matter what the jeweler can produce from the materials.



	79
	3rd printing
	Problem 3-17, the numbers in the table 230.77 and 346.77 should be changed to 231 and 346 (i.e., these are round dollar amounts, no cents, consistent with what was used in Section 3.6).



	105
	2nd printing
	Footnote 7,  Change the second sentence to: But in that case, growth and discounting cancel out, and the present value is equivalent to receiving all the cash flows at date 1: PV  C × N1r

	115
	2nd printing
	Box, second paragraph:  change “ar” to “are”

	136
	3rd printing
	Figure 5.3 caption:
Change from:  “Gray bars show the dates of U.S. recessions.  Note that inverted yield curves tend to precede recessions as determined by the National Bureau of Economic Research.”

To:

“Gray bars show the dates of U.S. recessions as determined by the National Bureau of Economic Research.  Note that inverted yield curves tend to precede recessions.”



	137
	2nd printing
	Footnote 6, last sentence should read: See Chapter 8, pages 231-233, for further discussion.

	151
	2nd printing
	Section 6.2, first line, should read: “…John Graham and Campbell Harvey….”; Also in the same section, line 3, references to Gitman and Forrester should read: “….L. J. Gitman and J. R. Forrester….”

	158
	2nd printing
	p. 158 last sentence of the main text: Change IRR to  NPV

	171
	2nd printing
	Problem 9a (change in red): Change 5.438761% to 6%; Change 2.745784% to 2%; Change 10.879183% to 11%

Problem 9b: How many IRRs does this investment opportunity have?

	172
	3rd printing
	Problem 6-19, Add asterisk to problem number

Note: Instructor should instead use the new Problem 6-21 provided in the 2nd printing of the Solutions Manual. 

	173
	3rd printing
	Problem 6-20, Add asterisk to problem number

Note: Instructor should instead use the new Problem 6-21 provided in the 2nd printing of the Solutions Manual.

	182
	2nd printing
	Example 7.2, first line of problem: Change “could” to “would”

	188
	2nd printing
	Example 7.4, Spreadsheet solution: Line 4 under Year 3 should read (237) NOT (236)

	189
	2nd printing
	Equation 7.7 should read t−year discount factor NOT t=year discount factor

	203


	2nd printing
	7:  change “(in millions of dollars)” to “(in thousands of dollars)”

	203
	2nd printing
	6:  In table, change “Operating Expenses (other than depreciation)” to “Cost of goods sold and operating expenses other than depreciation”

	205
	2nd printing
	12: One year ago, … on a straight-line basis over 10 years, after which it has no salvage value.  You expect that the new machine will produce additional EBITDA (earnings before interest, taxes, depreciation, and amortization) of $40,000 per year for the next 10 years.  The current machine is expected to produce EBITDA of $20,000 per year. The current machine is being depreciated on a straight-line basis over a useful life of 11 years, after which it will have no salvage value, so depreciation expense for the current machine is $10,000 per year. All other expenses of the two machines are identical.  The market value today of  the current machine is $50,000.  Your company’s tax rate is 45%, and the opportunity cost of capital for this type of equipment is 10%.  Is it profitable to replace the year-old machine?

	205
	2nd printing
	14: Change “Additions to working capital” to read “Increases in net working capital”

	206
	2nd printing
	Problem 15, bullet point for “Operations” should read as follows (changes in red): The disruption caused by the installation will decrease sales by $5M this year. Once the machine is operating next year, the cost of goods….The increased production will require additional inventory on hand of $1 million, to be added in year 0 and depleted in year 10.

	2l5
	2nd printing
	Example 8.2 under Solution, second paragraph, fourth line: Delete “as”; sentence reads “….to its current price, shown in the following timeline….”

	2l9
	2nd printing
	Eighth line of text in first paragraph , third sentence should read (change in red): If a bond’s yield to maturity …then the IRR of an investment in the bond equals….

	223


	2nd printing
	Chapter header at right hand top of page should read (correction in red): 8.2 Dynamic Behavior of Bond Prices

	224
	2nd printing
	Second line down from “Replicating a Coupon Bond”: the ‘p’ in price should be capitalized, i.e., “Law of One Price

	234
	2nd printing
	Problem 9 should read (changes in red): If a bond’s yield to maturity…an investment in the bond equals….

	237
	2nd printing
	12a: change “yields to maturity” to “yield to maturity”; Problem 12b: change “are most” to “is most”; change last sentence from “Explain how….in part (a)” to read “Provide an intuitive explanation for your answer.”

	244
	2nd printing
	A5: Add “Suppose” at start to make clear it is a new yield curve

	254
	2nd printing
	Heading on upper right of timeline should be bold faced letters

	275
	3rd printing
	Problem 9-3, change to:

NoGrowth Corporation currently pays a dividend of $0.50 per quarter and it will continue to pay this dividend forever. What is the price per share if its equity cost of capital is 15% per year? 

	277
	3rd printing
	Problem 9.16.a, change to:

Suppose you believe KCP's initial revenue growth rate will be between 7% and 11% (with growth slowing linearly to 4% by year 2011).  What range of share prices for KCP is consistent with these forecasts?

	284
	2nd printing
	Change #1, first sentence as follows:  A portfolio, constructed by Standard and Poor’s, comprising 90 U.S. stocks up to 1957 and 500 U.S. stocks after that.

	296
	2nd printing
	Replace last paragraph of box with the following:

Conversely, we should use the arithmetic average return when we are trying to estimate an investment’s expected return over a future horizon based on its past performance.

If we view past returns as independent draws from the same distribution, then the arithmetic average return provides an unbiased estimate of the true expected return.  However, for this result to hold we must compute the historical returns using the same time intervals as the expected return we are estimating.  (E.g. we use the average of past monthly returns to estimate the future monthly return, or the average of past annual returns to estimate the future annual return.) Because of estimation error the estimate for different time intervals will generally differ from the result one would get by simply compounding the average annual return.  With enough data however, the results will coincide.  For example, if the investment mentioned above is equally likely to have annual returns of +20% and -20% in the future, then if we observe many 2-year periods, a $1 investment will be equally likely to grow to 

(1.20)(1.20) = $1.44, (1.20)(0.80) = $0.96, (0.80)(1.20) = $0.96, or (0.80)(0.80) = $0.64.  

Thus, the average 2-year return will be (1.44 + 0.96 + 0.96 + 0.64)/4 = $1, so that the average annual and 2-year returns will both be 0%. 

	348
	2nd printing
	Fix tangent in Figure 11.10  

	350
	2nd printing
	Title of Eq.11.19 should read:  Beta of Investment i with Portfolio P



	359
	3rd printing
	Problem 11.12, change to:

Suppose Intel’s stock has an expected return of 26% and a volatility of 50%, while Coca-Cola’s has an expected return of 6% and a volatility of 25%.  If these two stocks were perfectly negatively correlated (i.e. their correlation coefficient is -1), 

a. Calculate the portfolio weights that remove all risk.

b. What is the risk-free rate of interest in this economy?

	370-371
	2nd printing
	Figure 12.3: Overprinting in dots on graph.

	392
	2nd printing
	Eq. 12.11: r mkt   should read   rMkt—that is, there should be a capital M on subscript.

	404
	2nd printing
	Dot at the X and Y axes should be solid black

	426
	3rd printing
	Problem 13.2, change to: 
If past returns could be used to predict alphas, what implication would this have?

	454
	3rd printing
	Problem 14.9, the first sentence which reads, “Consider the entrepreneur described in Section 14.3.”  

should be replaced with

“Consider the entrepreneur described in Section 14.1 (and referenced in Tables 14.1-14.3).”

	512
	2nd printing
	Footnote 30: Add names in last citation as follows:  Jonathan Berk, Richard Stanton, and Josef….

	524
	3rd printing
	Problem 16-1, add the line "Gladstone will not make any payouts to investors during the year." before the last sentence in the problem statement.

	557
	2nd printing
	Second sentence in box, add year to read as follows: On November 8, 2001, 

	558
	2nd printing
	First paragraph, line 7 (correx in red): “…(see the box on Royal and SunAlliance’s dividend cut on page 557).

	559


	2nd printing
	Example 17.8: The "Total market value of assets" reads horizontally as:


6,000

6,400

5,400

It should be


6,000

5,400

6,400

	569
	3rd printing
	Problem 17-14, change to:

Redo Problem 12 but assume that investors pay a 15% tax on dividends but no capital gains

taxes or taxes on interest income, and Kay does not pay corporate taxes.



	582
	2nd printing
	page 582, re definition of target leverage ratio:  Delete “(where the proportion need not remain constant)”; sentence should read: A target leverage ratio means that the firm adjusts its debt proportionally to the project’s value or its cash flows, so that a constant debt-equity ratio is a special case.5 

Add  the following sentence at the beginning of footnote 5: “More generally, we can allow the target ratio to change over time.

	585 & 587
	2nd printing
	page headers – should read 18.4 not 8.4

	595
	2nd printing
	Table 18.8: delete “dash” in year 0, rows 2 and 3

	602 and 604
	2nd printing
	r WACC should read   r wacc

	605
	2nd printing
	Line 4 in Table Spreadsheet 18.10: rd should read  rD  

	608
	2nd printing
	last paragraph – Change as follows:

If the investment’s leverage or risk does not match the firm’s, then investor tax rates are required even with the WACC method, as we must unlever and/or re-lever the firm’s cost of capital using Eq. 18.24.  When the investor’s…

	612
	2nd printing
	6: …This debt is risk free, is 4 years away from maturity, has annual coupons with a coupon rate of 10%, and a $100 million face value.

	612
	2nd printing
	11: ….The firm will make no net investments (i.e., capital expenditures will equal depreciation) or changes to net working capital….

	614
	2nd printing
	14: ….Assume that Remex’s debt cost of capital will be 6.5%....

	615
	2nd printing
	17.  ….The project requires $50 million in working capital at the start, which will be recovered in year 10 when the project ….

	615
	2nd printing
	19a.  what is the NPV of the investment including any tax benefits of leverage?


	616
	2nd printing
	23a. Change in red:  Use the APV method to determine…

	617
	2nd printing
	24, add “*” to indicate challenging problem

24a. insert the following (in red): Suppose Gartner adds $50 million in permanent debt, and uses the proceeds to repurchase shares.  

	617
	2nd printing
	Insert the following (in red):

25b:Assuming no personal taxes, how will Revtek’s WACC change if increases its debt-equity ratio to 2 and its debt cost of capital remains at 6%?

25c: Now suppose investors pay tax rates

	621
	2nd printing
	Under B section head, Risk of the Tax Shield with a Target Leverage Ratio, the third paragraph, Replace the existing paragraph beginning, “With either policy….” and REPLACE it with the following new paragraph: 

With either policy, the value at date t of the incremental tax shield from the project’s free

cash flow at a later date s, 
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The assumption rT  rU therefore follows as long as all cash flows have the same market risk 

between t 1 and t; that is, when discounting 
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 to period t1, the cost of capital 

does not depend on s (a standard assumption in capital budgeting).




	624
	3rd printing
	Table 19.1, after line 7 and in line 11, change “Stockholder’s Equity” to “Stockholders’ Equity”

	635
	3rd printing
	Table 19.11, after line 10, in line 11, and line 15: change “Stockholder’s Equity” to “Stockholders’ Equity”

	661
	2nd printing
	Figure 20.2 legend: should read “greater” not “greather”

	678
	2nd printing
	Example 20.10, third line: replace “repurchase stock” with “pay a special dividend, i.e., ....using the proceeds to pay a special dividend. Suppose….

	701
	2nd printing
	Example 21.6 title: Change to read Computing the Implied Volatility from an Option Price

	707
	2nd printing
	Last paragraph, second line, before section 21.4: Change “assets” to “securities” 

	715
	3rd printing
	Problem 21-9, change to:

…using the 310 January 2008 call option.

	715
	3rd printing
	Problem 21-11, change to:

…the value of the 340 January 2008 call option.



	716
	3rd printing
	Problem 21-18, change to:

Return to Example 20.10, in which Google was contemplating issuing zero-coupon

debt due in two years with a face value of $90 billion, and using the proceeds to repurchase stock. Google currently has a market value of $122 billion and the two-year risk-free rate is 4.5%. Using the market data in Table 20.5 and the implied volatility you calculated in Problem 9, estimate the percentage increase in Google’s beta of equity when this debt is issued.



	743
	2nd printing
	Problem 5, sixth line from top of page: Replace “The company will generate…Because....” as follows:

Fifteen percent of the value of the company is attributable to the value of the free cash flows (cash available to you to spend how you wish) expected in the first year. If the one year….

	743
	3rd printing
	Problem 22.7, parenthetical on the fourth line should be replaced as follows: 

(there are no cash flows in the first year)



	744
	2nd printing
	Problem13:  Change “at any time during the next year” to “at the end of the next year”

	762
	2nd printing
	Figure 23.2: Add source line

	767
	2nd printing
	Example 23.4 under Solution, second paragraph, change formula (in red) below to read: 

….For successful IPOs….your profit is 

     $15/share x (125 shares) x (20% return) = $375

For unsuccessful IPOs….your profit is

     $15/share x (2000 shares) x (-5% return) = -$1500

	771, 781, 782
	2nd printing
	Add source lines to figures. They should read as follows: p. 771: Source: Courtesy RealNetworks, Inc.; p. 781: Source: Courtesy Hertz Corporation.; p. 782: Source: Courtesy Heritage Auctions, Inc. © 1999-2006. 

	776
	3rd printing
	Just before problems, the reference under the heading “Costs of Raising Equity” should read:

O. Altinkilic

(the first initial is missing)

	778
	3rd printing
	Problem 23-13,  add the following to the last sentence of the first paragraph:

Assume the underwriter charges 5% of the gross proceeds as an underwriting fee (which is shared proportionately between primary and secondary shares).



	778
	3rd printing
	Problem 23-15, the final sentence should read:

Assuming the rights issue is successful, how much money will it raise?


	798
	3rd printing
	Problem 24.11, change the problem statement by dropping the parenthetical "(at par)"



	804
	2nd printing
	Example 25.2 under Solution, equation should read:
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	805
	3rd printing
	insert comma before “by the Law of One Price” in first paragraph after the example.

	817
	2nd printing
	Add the following phrase (in red) to the end of sentence, 5th line down in paragraph with heading, “A Direct Method.” 

“….the unlevered cost of capital for the investment (see Eq. 18.11 and the discussion on pages 592-593). Because…”



	824
	2nd printing
	Changes (in red) to Problems 1, 2, 3: 

1. Suppose an H1200 … will have a residual market value of $60,000 …

a. What is the … lease rate for a five-year lease in a perfect market?

b. What … monthly payment for a five-year $200,000 risk-free loan…?

2.   Suppose the … to break-even in a perfect market with no risk?

3.  Consider a 5-year lease for a $400,000 bottling machine, with a residual market value of $150,000 at the end of 5 years. …

	825
	2nd printing
	Changes (in red) to Problems 6, 7, 8:

6. Part a: Add the following (in red): What are the free cash flow consequences of buying the fabricator if the lease is a true tax lease? 

6. Part b: Add the following (in red): What are the free cash flow consequences of leasing the fabricator if the lease is a true tax lease?

7. Riverton Mining … for 5 years.  Assume Riverton’s borrowing cost is 8%, its tax rate is 35%, and the lease qualifies as a true tax lease.

8, part a: If Clorox …over the next 5 years, and if the lease qualifies as a true tax lease, is it better to lease or finance the purchase of the equipment

	826
	2nd printing
	Changes (in red) to Problems 9 and 10:

9: Suppose Procter and Gamble….It will also be responsible for maintenance expenses of $1 million per year, paid in each of years 1 through 5.  …

a. What the NPV associated with leasing the equipment (assuming it is a true tax lease) versus financing it with the lease-equivalent loan?

10: Suppose Netflix is considering the purchase.…Suppose Netflix and the lessor face the same 8% borrowing rate, but the lessor has a 35% tax rate.  Assume the lease is a true tax lease.

	826
	3rd printing
	Problem 25-9, change to

…It will also be responsible for maintenance expenses of $1 million per year, paid in each of years 1 through 5.  Alternatively, it can lease the equipment for $4.2 million per year for the 5 years…


	847
	3rd printing
	Problem 26-4 part (c):  change as shown:

c.         The industry average accounts receivable days is 30 days.  What would the cash conversion cycle for The Greek Connection have been in 2004 had it met the industry average for accounts receivable days?

	847
	3rd printing
	Problem 26-7, change to: 
The Fast Reader Company supplies bulletin board services to numerous hotel chains nationwide.  The owner of the firm is investigating the desirability of employing a billing firm to do her billing and collections.  Because the billing firm specializes in these services, collection float will be reduced by 20 days.  Average daily collections are $1,200, and the owner can earn 8% annually (expressed as an APR with monthly compounding) on her investments.  If the billing firm charges $250 per month, should the owner employ the billing firm?

	849
	3rd printing
	Problem 26-16 parts (a) and (b)

            a.         Calculate the average number of days inventory outstanding for OVHS.
b.         The average days of inventory in the industry is 73 days.  By how much would OVHS reduce its investment in inventory if it could improve its inventory days to meet the industry average?


	854
	2nd printing
	Footnote 2, first sentence: Change “any tax implications” to read “any immediate tax consequences.

	869
	3rd printing
	Problem 27-7, change to:  
Consider two loans with a 1-year maturity…


	900
	3rd printing
	Problem 28-12, change to:

BAD Company’s stock price is $20 and it has 2 million shares outstanding. You believe you can increase the company’s value if you buy it and replace the management. Assume that BAD has a poison pill with a 20% trigger.  If it is triggered, all of BAD’s shareholders -- other than the acquirer -- will be able to buy one new share in BAD for each share they own at a 50% discount.  Assume that the price remains at $20 while you are acquiring your shares.  If BAD’s management decides to resist your buyout attempt, and you cross the 20% threshold of ownership:



	954
	2nd printing
	Move placement of label for Eq. 30.9 to the previous line.

	967
	2nd printing
	Changes (in red) to Problems 12 and 13:

12 part c:  ten-year Treasury STRIPS (zero coupon bonds).

13: The Citrix Fund has invested in a portfolio of government bonds that has a current market value of $44.8 million. … the current value of its liabilities (i.e., the current value of the bonds it has issued) is $39.2 million.

	End Matter
	2nd printing
	Add the following entries to glossary:

p. G-3: CAGR  See compound annual growth rate

p. G-4: compound annual growth rate (CAGR)  The geometric average of an investment’s realized annual returns.

Add the following items to the subject index:

p. I-3: CAGR  See compound annual return

p. I-4: revise entry to read, “Compound annual return, also known as compound annual growth rate (CAGR), 296b”
p. I-14, middle column, correct spelling of name: Kaly should read Kalay.
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